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Practice Time




Dilate each shape according to the
given scale factor. Then find the
perimeter and area of the dilated shape.
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S) Scale Factor = 2
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7) When you dilate a shape by a scale
factor of 2, the length and width of the
shape are doubled. How does the area of
the dilated shape compare with the area of
the original shape?



7) When you dilate a shape by a scale
factor of 2, the length and width of the
shape are doubled. How does the area of
the dilated shape compare with the area of
the original shape?

The dilated shape has an area that is 4 times greater
than the area of the original shape.
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This property 1s true for all shapes.

-/-

Area =2 Area =38

A

Area=1 Area=4




You do not need to find

the perimeter on these 8) Scale Factor =2

shapes.

Area=4



You do not need to find

the perimeter on these 8) Scale Factor =2

shapes.

Area=4



You do not need to find

the perimeter on these 8) Scale Factor =2

shapes.

Area =4 Area = 16




You do not need to find
the perimeter on these
shapes.

9) Scale Factor =3 NOTE: New Scale Factor

Area=4



You do not need to find
the perimeter on these
shapes.

9) Scale Factor =3 NOTE: New Scale Factor

Area=4



You do not need to find
the perimeter on these
shapes.

9) Scale Factor =3 NOTE: New Scale Factor

Area = 4 Area = 36



You do not need to find
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You do not need to find
the perimeter on these
shapes.

10) Scale Factor =4 NOTE: New Scale Factor

Area = 4 Area = 64



The Encl

e [Enel

e Enal




